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ZOOLOGY {Honours}
First Paper

Full Marks : 0 Time : Four Howrs
The figures in the murgin indicate fidl marks,
Group - A
1. Answer any four questions : Ix6=3

{a} Why Fuglenu is called mixotrophic organism 7

(by Why phylumn Porifera.is known as “dead end of
phyium’™?

{c) Differentiate between pseudocoelom and coelom.

{d} Neme two ciliary bands of trochophore larva.
State their fimctional significance.

(&) Why male mosquite cannot bite 7
(f) What is juvenile hormone (JH) 7: Point out its
function, '
2. Answer any four guestions : 4x4=16

{a} Mention the different types of symmetry
observed in the kingdom Animalia and their
importance. :
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(b) Discuss the role of symbionts in coral reefl
growth and productivity.

{cy Write a short note on parasitic adaptations of
Toenia $p,

{d) Discuss different types of metamorphosis in
insects with suitable diagrams.

(¢} Explain the significance of metamerism.

(fy Comment on the phylogenetic status of
Peripatus.

1. Answer any fwo of the following - 1094%2=21

(a) Classify phylum Echinodermate up o subclasses
with reasons and suitable exanmples.

{b) Define polymorphism. THusate it with suitable
examples from the order siphonophora. Stafe its
sigmficance. 1+7+2= 100

{c) Discuss various hypotheses of metazoan origin.
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s Describe the life history of Fascicla hepatica
with suitable diagrams.

Greup -B
4. Answer any fowr of the following 2x4=§
{a} Differentiate between hom and antler
(1) Define neoteny and p%edam@rph&sis.

{¢) What is carnassial teeth?
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(d) What is solenoglyphus fang 7 Give an example.
{2) Distinguish between Ratitae and Carinatae.

(fy What is ductus caroticus 7

3. Answer any four guestions © Awd=i6
Y ki
Y Twnlain the nhe a o et TSRS Ve
{ay Explain the phenomenon of reirogressive
metamorphosis in Ascidia.
(b} How mimicry helps amphiblans in defénse against
predators 7
{ey Classify reptilian skulls on the basis of temporal
vacuities.
() Write a note on Jacobsons organ.
{e) Distinguish between Actinopterygii and
£ < ¥
Crossopterygil.
£} What is bimodal respiration 7 EX
bl
phenomenon in any {ish with suitable dizgram.
6. Answer any fwo of the following - 10 2=21

{2} Enumerate the salient features of dipnoi. Write
about the disiribution of lung fish.  7%+3=104

{b) Write abowt the acrodynamic principles nvolved
in ‘lft’, ‘drag’ and ‘propulsion’ of flying bird.
Differentiate between hovering flight and {lapping
fhight. B 2=10%
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{c; Give a comparative account of structure of
kidney among amnicte vertebrates.

{d) Branchiostoma is both ciliary and filter feeder
—-tustify the statement. Why the excretory
svstem of Branchiostoma is considered as
primitive type 7



